K0406
ZH 2 DIN 705, A&

= 8Y/HMIZ olo|x]

o

M o2

EF A:

=X 2l AEl X}dX Ol R 2.
OfE AQF AE B §3 15H, AHA™ Ot R 2.

E|-°| E:

2™ 2l AEI XIQ4% Ol R 2| e ZHEH &2, HA m|akx{ 2.

a2 A37 AR FE S3 45H, AN DHR2(AYM) £ FH
xal, EA etz

O8H A3 5 AHQIHA AEA2-70, AHAX OLR 2.

dd,
AY: 185 AE{E DIN 553(&8 %)
E}Q E: 3R E AE{E DINEN ISO 4027 Z&(SZF A7)

H:I
]J°|'

DIN 7050 rh2t X|HE SAH7F 23 - 2lof| MSEL|Ch & &
£ = ol ot Brke 2EE £ daUch 7isole ¥Ee Fx|
&Lict
=0 M.
1) 5 M OfE A3/ D1=275
N
D3
w4
/|
Bjs14
Z=5 29
ZH 21 DIN 705, 2 E!
FEHS TN Fr EfQ] D1 B D2 D3
718 2 LA AEE
K0406.100301 A4 ol R 2| A 3 5 7 M2x3
K0406.100401 Atedd ot R 2| A 4 5 8 M2,5x3
K0406.100501 Aodx ot 2| A 5 6 10 M3x4
K0406.100601 i orF 2| A 6 8 12 M4x5
K0406.100701 Aodx ot 2| A 7 8 12 M4x5
K0406.100801 Aodx ot 2| A 8 8 16 M4x6
K0406.100901 A4 ot 2| A 9 10 18 M5x8
K0406.101001 Aodx ot 2| A 10 10 20 M5x8
K0406.101101 Aodx ot 2| A 11 10 20 M5x8
K0406.101201 Aroid o2 A 12 12 22 M6x8
K0406.101401 Aodx ot 2| A 14 12 25 M6x8
K0406.101501 Aodx ot 2| A 15 12 25 M6x8

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 1/4



K0406

°

Z& 21 DIN 705, 2 E!

EZS 29

FEHS TEE MA EH Efel D1 B D2 D3
7|18 SH LIAF AEE

K0406.101601 AEl Aodx ot 2| A 16 12 28 M6x8
K0406.101801 AR Aroix Or 2| A 18 14 32 M6x8
K0406.102001 AE A4 ot 2| A 20 14 32 M6x8
K0406.102401 AEl Aodx ot 2| A 24 16 40 M8x12
K0406.102501 AE Aroix OrF 2| A 25 16 40 M8x10
K0406.102601 AE A4 ot 2| A 26 16 40 M8x10
K0406.102801 AE Aroid orR e A 28 16 45 M8x12
K0406.103001 AE Aroix OrF 2| A 30 16 45 M8x10
K0406.103201 AE A or R 2| A 32 16 50 M8x12
K0406.103501 AE Aroid orF e A 35 16 56 M8x12
K0406.103601 AE AHoix OrF 2| A 36 16 56 M8x12
K0406.103801 AE Aedd orF 2| A 38 16 56 M8x12
K0406.104001 AEl i ol 2| A 40 18 63 M10x16
K0406.104201 AE Atedd o R 2| A 42 18 63 M10x16
K0406.104501 AE A orF 2| A 45 18 70 M10x16
K0406.104801 AEl i ol R 2| A 48 18 70 M10x16
K0406.105001 AE Ated™ o R 2| A 50 18 80 M10x16
K0406.105201 A€l A4 ot 2| A 52 18 80 M10x16
K0406.105501 AE Aroid orR e A 55 18 80 M10x16
K0406.105601 AE Atedd orR 2| A 56 18 80 M10x16
K0406.105801 AE Aed™ orF 2| A 58 20 90 M10x16
K0406.106001 AEl Aodx ot 2| A 60 20 90 M10x16
K0406.106301 AE Atedd o R 2| A 63 20 90 M10x16
K0406.106501 A€l Xtodx ot R 2| A 65 20 100 M10x20
K0406.106801 AEl Aodx ot 2| A 68 20 100 M10x20
K0406.107001 AE Ated™ o R 2| A 70 20 100 M10x20
K0406.107201 AE A4 ot R 2| A 72 20 100 M10x20
K0406.107501 AE Aod% ot 2| A 75 22 110 M12x20
K0406.108001 AE Atedd o R 2| A 80 22 110 M12x20
K0406.108501 AEl A4 ot 2| A 85 22 125 M12x25
K0406.109001 AE Aodx ot 2| A 90 22 125 M12x20
K0406.110001 AE Atedd o R 2| A 100 25 140 M12x25
K0406.300301 AEl oA orF 2| E 3 5 7 M2x3
K0406.300401 AE Aodx ot 2| E 4 5 8 M2,5x3
K0406.300501 A& Ated™ o R 2| E 5 6 10 M3x4
K0406.300601 AEl Aodx ot 2| E 6 8 12 M4x5
K0406.300701 AR Aroix or R 2| E 7 8 12 M4x5
K0406.300801 AE A4 ot 2| E 8 8 16 M4x6
K0406.300901 AEl Aodx ot 2| E 9 10 18 M5x8
K0406.301001 AR Aroix Or R 2| E 10 10 20 M5x8
K0406.301101 AE Xodx ot 2| E 11 10 20 M5x8
K0406.301201 AEl Aodx ot 2| E 12 12 22 M6x8
K0406.301401 AR Aodx ot 2| E 14 12 25 M6x8
K0406.301501 AE oA or R 2| E 15 12 25 M6x8
K0406.301601 AEl Aod% ot 2| E 16 12 28 M6x8
K0406.301801 AE Aroix OrF 2| E 18 14 32 M6x8
K0406.302001 AEl Aed™ orF 2| E 20 14 32 M6x8
K0406.302401 AE Aroid orR e E 24 16 40 M8x12
K0406.302501 AE Aroix OrF e E 25 16 40 M8x10
K0406.302601 AE A or R 2| E 26 16 40 M8x10
K0406.302801 AE Aroid orF e E 28 16 45 M8x12
K0406.303001 AE AHoix Or R 2| E 30 16 45 M8x10
K0406.303201 AE Aedd orF 2| E 32 16 50 M8x12
K0406.303501 AE Aroid orR e E 35 16 56 M8x12
K0406.303601 AE Atedd o R 2| E 36 16 56 M8x12
K0406.303801 AE oA orF 2| E 38 16 56 M8x12
K0406.304001 AEl Aedx ol 2| E 40 18 63 M10x16
K0406.304201 AE Atedd o R 2| E 42 18 63 M10x16
K0406.304501 AE X4 ot 2| E 45 18 70 M10x16
K0406.304801 AE i ol 2| E 48 18 70 M10x16
K0406.305001 AE Atedd o R 2| E 50 18 80 M10x16
K0406.305201 AE A orF 2| E 52 18 80 M10x16

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/4



K0406

°

Z& 21 DIN 705, 2 E!

EZS 29

FEHS TFHE MA EMH Ele] D1 B D2 D3
7|18 SH LIAF AEE

K0406.305501 AEl Aodx ot 2| E 55 18 80 M10x16
K0406.305601 AR Aroix Or 2| E 56 18 80 M10x16
K0406.305801 AE Atedd or R 2| E 58 20 90 M10x16
K0406.306001 AEl Aodx ot 2| E 60 20 90 M10x16
K0406.306301 AE Aroix OrF 2| E 63 20 90 M10x16
K0406.306501 AE oA orF 2| E 65 20 100 M10x20
K0406.306801 AEl Aodx ot 2| E 68 20 100 M10x20
K0406.307001 AE Aroix OrF 2| E 70 20 100 M10x20
K0406.307201 AE A or R 2| E 72 20 100 M10x20
K0406.307501 AH[QIE|A AR A2 Atedd ot R 2| E 75 22 110 M12x20
K0406.308001 AH|QIEA AR A2 Aodx ot 2| E 80 22 110 M12x20
K0406.308501 AHQIP|A AR A2 Atedd ot E 85 22 125 M12x25
K0406.309001 AH[QIE|A AR A2 Atedd ot 2| E 90 22 125 M12x20
K0406.310001 AE[QIA AR A2 Aodx ot 2| E 100 25 140 M12x25
K0406.300303 A€l oted =2, MM m|atx{Z| E 3 5 7 M2x3
K0406.300403 AE oted =2, MM m|arx{Z| E 4 5 8 M2,5x3
K0406.300503 A ofod =32, MM m[at&{Z| E 5 6 10 M3x4
K0406.300603 A€l oted =3, MM m|atx{Z| E 6 8 12 M4x5
K0406.300703 AE oted =2, MM m|atx{Z| E 7 8 12 M4x5
K0406.300803 A ofod =32, MM matx{Z| E 8 8 16 M4x6
K0406.300903 A€l oted =3, MM m|atx{Z| E 9 10 18 M5x8
K0406.301003 AE ofod =2, MM matx{Z| E 10 10 20 M5x8
K0406.301103 AE ofod =32, MM m[atx{Z| E 11 10 20 M5x8
K0406.301203 AE oted =2, MM mlatxz| E 12 12 22 M6x8
K0406.301403 AE ofod =2, MM matx{Z| E 14 12 25 M6x8
K0406.301503 AE oted =&, MM matxz| E 15 12 25 M6x8
K0406.301603 AE oted =2, MM mlatxz| E 16 12 28 M6x8
K0406.301803 AE ofod =2, MM matx{z| E 18 14 32 M6x8
K0406.302003 AE oted =&, MM m|atxZ| E 20 14 32 M6x8
K0406.302403 AE oted =3, MM m|atx{Z| E 24 16 40 M8x12
K0406.302503 AE ofod =2, MM matx{Z| E 25 16 40 M8x10
K0406.302603 AE oted =&, MM matxz| E 26 16 40 M8x10
K0406.302803 AE oted =2, MM mlatxz| E 28 16 45 M8x12
K0406.303003 AE ofod =2, MM matxz| E 30 16 45 M8x10
K0406.303203 AE oted =&, MM matxz| E 32 16 50 M8x12
K0406.303503 AE oted =3, MM m|atx{Z| E 35 16 56 M8x12
K0406.303603 AE ofod =2, MM matx{Z| E 36 16 56 M8x12
K0406.303803 AE oted =&, MM matxz| E 38 16 56 M8x12
K0406.304003 AE ofod =2, MM m[arx{Z| E 40 18 63 M10x16
K0406.304203 AE ofod =2, MM matx{Z| E 42 18 63 M10x16
K0406.304503 AE oted =3, MM m|atx{Z| E 45 18 70 M10x16
K0406.304803 AE ofod =2, MM m[akx{Z| E 48 18 70 M10x16
K0406.305003 AE ofod =2, MM m[atx{Z| E 50 18 80 M10x16
K0406.305203 AE oted =3, MM m|atx{Z| E 52 18 80 M10x16
K0406.305503 AE ofod =2, MM m[arx{Z| E 55 18 80 M10x16
K0406.305603 AE ofod =2, MM m[atx{Z| E 56 18 80 M10x16
K0406.305803 A€l ofod =2, MM m[atx{Z| E 58 20 90 M10x16
K0406.306003 AE oted =2, MM m|arx{Z| E 60 20 90 M10x16
K0406.306303 AE ofod =32, MM matx{Z| E 63 20 90 M10x16
K0406.306503 A€l oted =3, MM m|atx{Z| E 65 20 100 M10x20
K0406.306803 AE oted =2, MM m|atx{zZ| E 68 20 100 M10x20
K0406.307003 AE ofod =32, MM m[atx{Z| E 70 20 100 M10x20
K0406.307203 AE oted =2, MM mlatx{z| E 72 20 100 M10x20
K0406.307503 AE oted =&, MM m|atx{Z| E 75 22 110 M12x20
K0406.308003 A ofod =32, MM matx{Z| E 80 22 110 M12x20
K0406.308503 AE oted =2, MM mlatx{z| E 85 22 125 M12x25
K0406.309003 AE oted =2, MM m|arx{Z| E 90 22 125 M12x20
K0406.310003 AE ofod =32, MM mat&{Z| E 100 25 140 M12x25

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com



ZH 2 DIN 705, A&

22

T
12

KIPPS| ZH BMBZH &2 F2 7|/ X dH| 30| 715 7|& ool M AISELICH E2 AFZES S2|of 7tS
£S5 SG8 ?AX|ol 1Mo = 1H57| /E ATFE 7SS FLICH 6 W 7|HM AR EE H|0{2 HO= Ar
EELICH EF 78 7|E EOIM CHE £ &8 ﬁMIA-IEIEE MY RLICH ol2fE ¥Ho 2 £3| ZE{L} 7[012] £
SE2MAF ASELICHHTKIPPE CHEE 2Eo| =H B2 MI LT 28 =8 3 o[2of AH| QA A& ¢XH
ol =™ Y 2oel&M FEE ?Aau r “sefoll wht 27bx] ER7F UL SIS @R 0] 2l T2{H AT
F(EFY A)O|Z O E stLtE |2t £2700] I J8E 23 7 (EHA E)uich. 30| e = 3 2 =8 S xIX|
SHoO) AR5l QIME B2I0|EE KIPP xﬂs S0l ZeE o

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



